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EEELHEH (A) 2. 43.9 46. 4
BEMEE FEHELEEH (B) 0. 33.6 34. 1
BHEIEER %
85. 56. 6 57.7
. A/ (A+ 100
B A B AXILER (A7 (ATB) *100
HEEELFEH (A) 4, 28.3 32. 7
HEHB FETHELHEK (B) 4, 44. 7 49. 3
HEHE %
(A (A+B) *100) 49- 387 39-9
HEEESHEH (A) 3. 40. 2 43. 2
BEMEE FEHELEEH (B) 0. 29.3 29.3
BHEIEER %
100. 57.8 59. 5
A S e (A (A+B) *100)
HEEELFEH (A) 4, 26.3 30. 7
HEE B FFHELEER (B) 4, 44, 7 49, 3
BHEE %
(A (A+B) %100) 49. 37.0 38. 4
HEEELSHEH (A) 1. 32. 1 33.7
EMEA HFEHELFEH (B) 0. 22.0 22. 4
BHEIE %
FESR (b= Fl (A (A+B) *100) 80. 59. 4 60. 1
QOITEE L YEEREL)
EEELFEH (A) 4, 21.8 26. 2
#EHB FETHELHEY (B) 4, 42. 2 46. 8
BHHEE %
(A (A+B) *100) 49- 34.0 35-9
HEEELSHEH (A) 4, 47.3 51.3
EMEA FEHELBBEH (B) 0. 24. 8 24. 8
BHEIE %
100 65. 6 67. 4
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ER R (A7 (ATB) *100
EEESREH (A) 4, 21.8 26. 2
H*EFE FEHELKEH (B) 4, 42,9 46. 8
BHEIE %
(A (A+B) *100) 49- 34.0 35-9
EEELREH (A) 1. 33. 1 34. 6
EMREA FEHELBBEH (B) 0. 13.9 14. 4
BHEHE %
Bt a=aFl (A (A+B) *100) 7. 70.5 70.17
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HEEESREH (A) 4, 21.8 26. 2
ANEIHEEFER
#EHB HFEHELFBEH (B) 4, 42. 2 46. 8
BHEIE %
(A (A+B) *100) 49- 34.0 35-9
EEELFEH (A) 3. 47.8 51.3
EMREA FEHELFEH (B) 0. 21.3 21.3
BERILEE %
100 69. 2 70. 7
A/ (A+B) %100 : : :
HAEEER (A7 (ATB) *100
EEESREH (A) 4, 21.8 26. 2
H*EFE FIFHELHER (B) 4, 42. 2 46. 8
BRIEER %
(A (A+B) *100) 49. 34.0 3.9




